[bookmark: _GoBack]Estimate the answer to the nearest 100. 
1. 696 + 213 = 
2. 421 + 389 =
3. 512 + 199 =
4. 789 + 398 = 
5. 301 + 102 =
Estimate the answer by rounding to the nearest 10. 
1. 311 + 267 = 
2. 452 + 112 =
3. 529 + 322 =
4. 145 + 139 =
5. 842 + 123 =
Estimate the answer by rounding to the nearest 10. 
1. 267 + 113 =
2. 389 + 123 =
3. 456 + 232 =
4. 687 + 211 =
5. 878 + 344 =

Show me how you could check whether 281 + 376 = 657 using another calculation
Convince me that addition and subtraction are opposites


Bob has 89 bouncy balls in his drawer. He picks up a handful more to drop into his drawer.
He estimates he has 95 bouncy balls in his drawer now. Is he correct? Explain your answer.
